Model Set Paper - 6

1. r @31 9 fae1 Q) sATel & d9 aF I1aT 99 AT ST 8-

The force acting between two electrons Separated by distance r is proportional to :
A rd
B) 2
(Qr2d
D) r'd
2. faega v &1 fafig g g @

The dimensional formula for electric flux is
(A) [ML2T31T]

(B) [ML3T3I]

(©) [ML2T3IT]

(D) [ML3T3I]

3. P (Vector) ﬁﬂ'ﬂ'd W@fﬂﬁ@ﬁmﬁﬂ? E (Vector) ?ﬂammﬁﬁz{ga aa o
@ T A I W a2 T 9 AT ghm-

The torque experienced by an electric dipole of electric dipole moment E in a
uniform electric field E is. :

(A) P x E (Vector)
(B) P.E (Vector)
(C) P+E (Vector)
(D) P-E (Vector)

4. UHiP A B! JAFIHI Fdg W x Hiex @ 9+ A fvar war & giar 8-

The work done in moving a unit positive charge through a distance x on an
equipotential Surface is:



(A) xj

(B)1/x}j

(C) zero

(D) ¥

5. STARIT @ad Mt T & 3igR fagga disrar gl 8-

The electric field intensity inside a charged hollow spherical conductor is
(A) o/ eo

(B) 00

(ORI}

(D)eo/ o

6. U TTa®, ST 41idr 20 pF 8, ®1 1000 V a6 SMAfRrd far Sirdr g 1 Arere &1
fRufast St gifi-

A conductor of capacity 20 pF is charged to 1000 V. The potential energy of the
conductor will be:

(A) 20 x 10*)
(B) 10*)
(C)20x 103 J
(D) 103 J

7. A BT S TH TP HIYT ST -

The emf of a cell is measured by:

(A) AleeHIeT

Voltmeter

(B) fayawTdt &

Potentiometer



(C) THieR &

Ammeter

(D) dlceTHer ¥

voltameter

8. fpare &1 urT Ay ferg i & v fRrgia ¥ ddfta 82 -

Kirchoff’s current rule is related to principle of conservation of

(A) TaTT

momentum

(B) Sl

energy

(C) 3=
Charge

(D) HIOfT TaT

angular momentum

9. AT dlee (ev) W HTUT ST &-

Electronvolt (eV) is a measure of

(A) favaiar
potential difference

(B) 3{TaTT
Charge

(C) Soll
Energy

(D) YIRT
Current

10. T Aead-HIeR &1 UfoRIY G 1 YT URT &7 1 ufa=ra € faa-ifiex # varfea gt
9% fT e &1 99 g1 91y -

Resistance of a galvanometer is G. Shunt used at allow 1% of main current through
the galvanometer is

(A) G/ 99



(B) G/ 90

(C) G /100

(D) 99G / 100

11. ST & B b1 Ry smema @ -

The working of a dynamo is based on :

(A) YRT & SHEHIT THTT TR

heating effect of current

(B) faqgd-dee T IRUT R

electro-magnetic induction

(C) IRd dabd W

induced magnetism

(D) U faggd R

induced electricity

12. TR HT IS 8-

Unit of self inductance is :

(A) AR
Weber (Wb)

(B) 31

ohm

(C) T

henry

(D) 719
Gauss

13. T3l Sl TrawriR & yrgndt 3T AFsS A wHT: Ny R N, 90 81 °9 -

If N1 and N2 are number of turns in primary and secondary ‘ coil of a transformer,
then

(A) N1 > N>



(B) N2 > Nj
(C) N1 =N
(D)N1 =0

14. L-R URUY HT i 0TS BT 8-

Power factor of L-R circuit is :
(A) R+ wL

(B) R / YR?+ Jw?L?

(C) RVR?+ Jw?L2

(D) wL /R

15. At & EPI Yd W THR-DIVT BT A glaT & -

The angle of dip at magnetic pole of earth is :
(A) 0°

(B) 90°

(C) 45°

(D) 180°

16. fagyd Yaeia T F GRU ) A A & -

The direction of transmission of electromagnetic wave is:
(A) E (Vector) & gHIAR parallel

(B) B (Vector) o THIR parallel

(C) B x E (Vector) & gHIAR parallel

(D) E x B (Vector) & JHIGR parallel

17. %9 SR A TaT ST AT UFT & 3R THDHT Ao Tl 872-

An air bubble inside water shines due to :



(A) 3TTAT

refraction

(B) TRTdd

reflection

(C) gut 3fiafke ufkacH

total internal reflection

(D) faad=

diffraction

18. G AN fOT &WdT -5D TUT +15D § B GHIENT HeT B ¥+ W Halo Bt
BieHd gil ghft-

The equivalent focal length of coaxial contact combination of two lenses of power
-5D and +5D will be :

(A) -10 cm

(B) +10 cm

(C) -20 cm

(D) +20 cm

19. @G gRef® § i ufafds grar 2-

The final image in astronomical telescope is :

(A) TRAMGD 3R IJeeT
real and inverted

(B) BTcUP 3R Tte

Virtual and erect

(C) PTUD 3R JeeT
Virtual and inverted

(D) IRdfae 3R e

real and erect



20. ITATPR AF BT TGER fHaT 161 7 3T &b 39 &IV TH B gr B3 & fore o
$ET ATdT 8-

Cylindrical lenses are used to correct defect of eye called:

(A) Fepe-zfFar

myopia

(B) SH-=fFar

hypermetropia

(C) 3MeTHeSH

astigmatism

(D) ST Efpar

Presbyopia

21. TR & YA Y 1ui & yasifofd yeprwr &1 ufvamr aiesd A & g =u &
[HTFUT gla -

In Rayleigh scattering of light, the intensity of scattered light is proportional to
the wavelength A in the form of:

(A) 1/\
(B)1/A
©1/»
(D) 1/

22. U Uad e & Ui fe@A &1 &Rl -

The colour of a thin film is due to :

(A) TfdDH0T

interference

(B) faad=

diffraction

(C) UebIvA

scattering



(D) guf-fagyur

dispersion

23. TR PI A0 g -

Brewsters law is :
(A) p= cosip
(B) u= tanip
(C) p= sinip
(D) pu= cotip

24. A A AT WieTH B St 8-

The energy of a photon of wavelength A is :

(A) hc/ A

(B)hr/c

(C) heA

(D)X / hc

25. T3S IO WaeH Bt HI-- F0ft 577 U A S 8-

Which of the spectral line of hydrogen spectrum lies in visible region ?

(A) SR Uit

Balmer series

BECELI

Brackett series

(C) ATZHT JUft

Lyman series

(D) UTg ot

Paschen series

26. Frafefad A #19 mawRfed & g2-

Which one of the following is a charge less particle ?



(A) a-h Tl
particle

(B) B-<pUT
particle

(C) UerA

proton

(D) Bleid

photon

27. fora= gwg # {6t Aeufaea yard &t wrmm e yRfbe iAo &1 eneht 8

The time during which the quantity of any radioactive material becomes half of its
original value, is called :

(A) 3N 31y

Average age

(B) 3r¢f-3mg
Half age

(C) 3ue Hadie

Decay constant

(D) 3Tad BT

Time period

28. NAND e ¥ T gfera e & -

The Boolean-expression for NAND gate is :
(A) A+ B (recurring) = Y

B)A+B=Y

(C) A<B (recurring) =Y

(D)AB =Y

29. SN T 15 BT fg3meurst & A9 gIm-

Result of conversion of decimal number 15 into binary will be:



(A) (1100)a
(B) (1001)z
(©) (1111)a
(D) (11001)
30. TV URYT & fore fre Sgfa uRTT &1 Iuai giar 87 -

Which frequency range is used in TV transmission ?
(A) 30 Hz -300 Hz

(B) 30 KHz - 300 KHz

(C) 30 MHz - 300 MHz

(D) 30 GHz -300 GHz

31. {5} avg W SMaAxT Bt YATH U FH 81 8 bl 8 -

The minimum value of charge on any object cannot be less than
(A) 1.6 x 1079 a9

(B)3.2x 107 Ha ¥

(C) 4.8 x 1079 Herd o

(D) 1 BT

32. gf¢ 9AEY fagyd &7 z-31&1 & =Y g1 df Jafdyad gh:-

If uniform electric field exists along Z-axis, equipotential is along

(A) XY-dd
plane

(B) XZ-dd
plane

Q) YZ-dd
plane



(D) gl Hi

anywhere

33. g & @ H19-11 uerd Hueie dR 991 & fore gaifie 3w g2-

Which one of the following is the best material for making connecting wires ?

(A) TTZShIH

Nichrome

(B) €T
Tungsten

(C) dlaT
Copper

(D) HHT

Manganese

34. TgS-aR fw verd & ffifa gt &7

Fuse-wire is made of which material ?

(A) dldl
Copper

(B) &
Tungsten

(C) Tr8-fe=T frsreng
Lead-Tin Alloy

(D) ATSshi™

Nichrome

35. 9 ufeRiy® oH A TS &1 ufeRiY R 8, fug-A adie! @ gaifera 53 . &1
A A B YT 8] 81 ghdn?

Three resistors of resistance Reach are combined in various ways. Which of the
following cannot be obtained?

(A) 3R

(A) 3R



(B) 2R/4
(QR/3

(D) 2R/3



